




Real Champs-



Length and breadth of a rectangular room are in the ratio 4 ∶ 5. The perimeter of the 

room is 180 m. Cost of flooring is 75rs per square metre. Find the cost of flooring the 

room?

एक आयताकार कमरे की लंबाई और चौडाई का अनुपात 4 : 5 है। कमरे की पररधि 180 मीटर है। फर्श की 

लागत 75 रुपये प्रधत वगश मीटर है। कमरे को फर्श देने की लागत ज्ञात कीधिये?

A. Rs. 1,50,000
B. Rs. 1,20,000
C. Rs. 1,75,000
D.Rs. 1,68,000
E. Rs. 1,45,000



120% of 400 + (162 - 122)/2 - 15 = ? 

A.421
B.521
C.511
D.512
E.NOT



√1444 + √5184 = 22 × ? 

A.3
B.4
C.5
D.6
E.NOT



125 ÷ 25 ÷ 5 × 100 + 200 = ?

A.200
B.300
C.250
D.100
E.NOT



(4/11) of 143 + (7/15) of 120 = 50% of (?)

A.196
B.216
C.225
D.206
E.235



20 × 7.5 + √ 225 = ? × 5

A.24
B.33
C.45
D.25
E.30



95 – 10 × [15 × (80 – 75)] ÷ 25 = ?

A.45
B.55
C.65
D.75
E.NOT



(256)1/2 × (4)3 × (216)1/3 ÷ 48 = 2?

A.3
B.4
C.6
D.0
E.7



(52)3 × (52)4 = 5?

A.10
B.12
C.8
D.14
E.NOT



A software company spends 50000rs per day to run their service. The company offers 

first 15 days free trial and then they charge 120rs per day for each customer. At the 

starting of April, the company gets 1000 new customers who use the service for the 

entire month. The profit earned by the company for the month of April for the new 

customers is ?

A. 10%
B. 20%
C. 30%
D.40%
E. 50%

एक सॉफ्टवेयर कंपनी अपनी सेवा को चलाने के ललए प्रलि दिन 50000 रुपये खचच करिी है। कंपनी 
पहले 15 दिनों का लन: शुल्क परीक्षण प्रिान करिी है और दिर वे प्रत्येक ग्राहक के ललए प्रलि दिन 120 
रुपये का शुल्क लेिे हैं। अप्रैल की शुरुआि में, कंपनी को 1000 नए ग्राहक लमलिे हैं जो पूरे महीने के 
ललए सेवा का उपयोग करिे हैं। नए ग्राहकों के ललए अप्रैल महीने के ललए कंपनी द्वारा अर्जचि लाभ क्या 
है?



There are two pipes in a cistern A and B. A can fill it in 15 minutes and B can empty it in 

30 minutes. If A and B are kept open alternatively starting with A for 1 minute each, in 

how much time will the cistern be filled? 

A. 53 minutes
B. 42 minutes
C. 45 minutes
D.57 minutes
E. 41 minutes

एक टंकी A और B में िो पाइप हैं। A इसे 15 लमनट में भर सकिा है और B इसे 30 लमनट में खाली कर 
सकिा है। यदि A और B को वैकर्ल्पक रूप से A से शुरू करके 1 लमनट के ललए खुला रखा जािा है, िो 
टंकी दकिने समय में भर जाएगी?



Gold and Silver are in the ratio 2 : 3 in 200 g of an alloy. The quantity of Gold in gm to be 

added to it to make the ratio 3 : 2 is ?

A. 90 gm
B. 120 gm
C. 100 gm
D.150 gm
E. NOT

एक लमश्र धािु के 200 ग्राम में सोना और चांिी का अनुपाि 2: 3 है। अनुपाि 3 : 2 बनाने के ललए 
इसमें लमलाए जाने वाले सोने की मात्रा क्या है?



S went to the market where she want to buy 50 bananas or 40 apples with the money she 

has. S keeps 10% of the amount for bus fares and buys 20 apples and of the balance, she 

purchased bananas. Find the number of bananas she can purchase ?

A. 12 bananas
B. 15 bananas
C. 20 bananas
D.10 bananas
E. NOT

S बाजार गई जहां वह अपने पास मौजूि पैसे से 50 केले या 40 सेब खरीिना चाहिी है। S बस दकराए के 
ललए 10% रालश रखिा है और 20 सेब खरीििा है और शेष में से, उसने केले खरीिे। वह दकिने केले 
खरीि सकिी है?



A sum of money lent at certain rate for 3 years. If it has been put at 5% per annum more 

than the previous rate, it will fetch 4500rs more, then find the principal amount?

A. Rs. 45000
B. Rs. 30000
C. Rs. 50000
D.Rs. 80000
E. Rs. 48000

3 वषों के ललए लनर्िि िर पर उधार िी गई रालश । यदि इसे पपछली िर से 5% प्रलि वषच अलधक िर पर 
रखा गया है, िो इससे 4500 रुपये अलधक प्राप्त होंगे, िो मूल रालश ज्ञाि कीर्जये?



R and S started a drawing school by investing in the ratio of 8 : 7. If at the end of the 

month the income is 1200rs and 10% of the income is donated and remaining divide into 

the proportion of their capital , find the share of S?

A. 500
B. 504
C. 490
D.468
E. NOT

R और S ने 8 : 7 के अनुपाि में लनवेश करके एक ड्राइंग स्कूल शुरू दकया। यदि महीने के अंि में आय 
1200 रुपये है और आय का 10% िान दकया जािा है और शेष को उनकी पूंजी के अनुपाि में पवभार्जि 
दकया जािा है, िो S का दहस्सा ज्ञाि कीर्जये?



(324)1/2x2 - 796 = 356

42y2 - 13y + 1 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



25x2 – 85x + 70 = 0

20y2 + 80y + 80 = 0 A.X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 – 21x + 108 = 0

y2 – 21y + 68 = 0 A.X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



64x2 + 24x – 70 = 0

9y2 – 27y + 20 = 0 A.X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 - 12x - 64 = 0

y2 + 20y - 156 = 0 A.X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



2, 9,    10,    65,    26,    217, ?

A.314
B.344
C.513
D.50
E.730


